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(B) S#13FE4H18 (#) $#443H31H
(B4 : M)
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e 0
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EEERER (7) = (3) + (6) 3,791,402 1,092, 459 4, 883, 861
5| MR RS BRIV A 0 0 0
25 [J-EARSRHBA SRz 150, 000 150, 000
B spnzsst (8) 150, 000 0 150, 000
B |EEmpesEiErenEEE (FH%) 0 0 0
| B | B S SR ST 0 0 0
o | B |Y-L2RDEBALER 150, 000 0 150, 000
# | [4ERIEAEt (9) 150, 000 0 150, 000
HRIERAR (10) = (8) — (9) 0 0 0
LEESIERESE (11) = (7) + (10) 3,791, 402 1,092, 459 4, 883, 861
= |BIAREMUEBIERAE (12) 142, 218, 536 143,310, 995 —1,092, 459
= [LEAkAMEBIEEAS (13) = (11) + (12) 146, 009, 938 142,218, 536 3,791, 402
5 |EASEEZE (14) 0 0 0
: |ZOMBOIETTSERES%E (15) 0 0 0
" [ZothoEIEiETEE (16) 0 0 0
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